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Paper I Part - A
MALAYALAM

Question Number 1 to 15

1) Xmsg-sIm-Sp-Ø n-cn-°p-∂-h-bn¬ icn-bmbnFgp-

Xnb]Zw G Xv?

F)DXvL mS\w _n)DZvL m-S\w

kn)DYvL m-S\w U n)D[vL m-S\w

2) Xmsg]d-bp-∂-h-bn¬ _jo-dns‚ IYm-]m{X

tPmU n.

F)N{µnI˛ca-W ≥

_n)]co-°q́n̨ Idp-Ø Ω

kn)kmdmΩ t̨Ii-h≥\mb¿

U n)Zmk≥˛_nµp

3) t{ijvT m̀jm-]-ZhnB Zywè n-®-Xv.

F)Xangv _n)kwkvIrXw

kn)I∂S U n)sXep¶v

4) A \-h-k-c-Ø n¬ B U w-_cw ImW n-°p∂p

F∂ A ¿∞ -Ø n¬ {]tbm-Kn-°p∂ ssien

F)Xe-a-d∂vFÆ tX°pI

_n)A ¿≤-cm-{Xn°vIpS]nSn-°pI

kn)D¿hinNa-bpI

U n)\£ -{X-sa-ÆpI

5) "Im®n-°p-dp-°nb Ihn-X-Iƒ' F∂vA dn-b-s∏-

Sp-∂XvB cpsSIhn-X-I-fm-W v.

F)H.-F≥.-hn.-Ip-dp∏v_n)kpK-X-Ip-amcn

kn)h≈-tØ mƒ U n)s shtem-∏n≈ n

{io[-c-ta-t\m≥

6) "A ' F∂ A £ cw thdń A ¿∞ -Ø n¬

tN¿Ø p-]-tbm-Kn®]Zw G Xv?

F)A [¿aw _n)A \oXn

kn)A im¥n U n)A Shn

7) cmPy-Ø ns‚IS-_m-[yX {]Xn-h¿jwIqSn-°qSn

hcn-I-bm-W v.{]Xn-h¿jwF∂ ]Zwhn{K-ln-®p-

]-d-™ m¬

F){]Xn-bpsSh¿jw _n)h¿jw-tXmdpw

kn)h¿j-Ø n\vtijwU n)h¿jØ n\vapºv

8) "a‰p≈ m̀j-Iƒ tIhew[m{Xn-am¿a¿Ø y\p

s]‰Ω X≥ m̀j-Xm≥''B cp-tS-XmW vCuhcn-

Iƒ

F)B im≥ _n)D≈ q¿

kn)h≈-tØ mƒ U n)Fgp-Ø -—≥

9) òas\ tI{µ IYm-]m-{X-am°nFw.-Sn.-hm-kp-tZ-

h≥\mb¿Fgp-Xnbt\mh¬ G Xv?

F)A kp-c-hnØ v _n)a™ v

kn)c≠ mw-aqgw U n)Imew

10) hmsf-Sp-Ø -h≥hmfm¬\in°pw C̨u]g-s© m-

√ns‚ B i-b-tØ mSvG ‰hpw A SpØ p

\n¬°p∂ sNm√vXmsg-]-d-bp-∂-h-bn¬ G Xv?

F)hmsf-Sp-Ø -h-s\√mw shfn-®-∏mSv

_n)shs ḿ∂vapdnc≠ v

kn)thenXs∂ hnfhvXn∂pI

U n)hnX-®tX sImøp

11) Xmsg-]-d-bp-∂-h-bn¬Nn”-an-√mØ kzcm-£ -cw.

F)B _n)F

kn)A U n)C

12) A d_nae-bmfw IqSp-X-embnImW -s∏-Sp∂

kmln-Xy-cq]wXmsg-]-d-bp-∂--h-bn¬ G Xv.

F)t\mh¬ _n)sNdp-IY

kn)am∏n-f-∏ḿv U n)\mSIw

13) IÆn¬ aÆn-SpI F∂ ssienA ¿∞ -am-°p-

∂Xv.

F)IÆn¬ asÆ-Sp-Ø n-SpI

_n)h© n-°pI

kn)aÆv]cn-tim-[n-°pI

U n)ÿ ewhmß pI

14) Imk¿tImSvPn√-bnepw I¿Æm-S-I-bpsS ]e

m̀K-ß -fnepw {]Nm-c-ap-≈ Xpw IY-I-fn-tbmSv

kmayw]pe¿Ø p-∂-Xp-ambHcpIem-cq]w

F)Im°m-cn»n\mSIw

_n)]qc-°fn

kn)Nhn-́p-\m-SIw

U n)b£ -Km\w

15) \¥-\m¿F∂ XqenIm\ma-Ø n¬ A dn-b-s∏-

Sp∂ kmln-Xy-Im-c≥B cv?

F)]n.-kn.-tKm-]m-e≥

_n)tPm¿÷vh¿Kokv

kn)hn.-am-[-h≥\mb¿

U n)]n.-kn.-Ip-́n-Ir-jvW ≥
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Paper I Part - B

ae-bmfw

Question Number 16 to 30

16)""ae-c-W n-°m-Sp-Iƒ Xnß n-hnß n

ac-XIIm¥n-bn¬ apß napß n

IcfpwangnbpwIh¿∂pan∂n

Ic-b-s‰m-cm-e-k¬ {Kma-̀wKn''

Cuhcn-Iƒ Dƒs∏-Sp∂ IrXnG Xv?

F)CS-t»-cn-bpsS]qX-∏ḿv

_n)Ipam-c-\m-ims‚eoe

kn)Nß -ºp-g-bpsSca-W ≥

U n)sshtem-∏n-≈ n-bpsSklys‚aI≥

17)A tß -b-‰w,A h-km\w F∂oB i-b-ß ƒ

\¬Ip∂ ae-bmfssien

F)s\√n-∏-eIImW pI

_n)A Sn-bdhbv°pI

kn)A ‰ssI

U n)s\‰n-hn-b¿°pI

18)2015 sekml n-Xy-Ø n-\p≈ s\mt_¬ ]pc-

kvImcw è n-®-Xv.

F)skz‰vem\A e-Ivko-hn®v

_n)skz‰vem\A e-Ivkm-≠¿

kn)tSmtamkvA e-Ivknb

U n)t]mƒ tamU n®v

19)Iq́-Ø n¬ s]Sm-Ø XvG Xv.

F)IY-Ifn _n)IrjvW -\ḿw

kn)IqSn-bḿw U n)B -́°Y

20)"bqtdm-∏ns‚ CXn-lmkw'F∂phnti-jn-∏n-°-

s∏-Sp∂ IrXnG Xv.

F)Po≥{InÃ v̂ _n)hm¿B ≥Uv]okv

kn)eman-dm-_nse U n)A ∂m-I-cn-\o\

21)2015seh≈-tØ mƒ A hm¿Uvè n-®Xv

F)B \µv _n)Fw.-ap-Ip-µ≥

kn)sI.-B ¿.-aoc U n)kpK-X-Ip-amcn

22)Ipam-c-\m-ims‚NneIrXn-IƒXmsg-tN¿°p-∂p.

{]kn-≤o-I-cW h¿j-Ø n-\-\p-k-cn®vXpS-°-

Ø n¬\n∂vHSp-°-Ø n-te°vF∂ coXn-bn¬icn-

bmb{Iao-I-cW w G Xv?

F)hoW -]q-hv,\fn-\n,eoe,IcpW

_n)hoW -]q-hv,\fn-\n,IcpW ,eoe

kn)hoW -]q-hv,eoe,IcpW ,\fn\n

U n)hoW -]q-hv,Icp-W ,eoe,\fn\n

23)"a\p-jy\vHcpB apJw' F∂ t\mh-en\v2014

se tI{µ-km-l nXyA °m-Z-anI ]pc-kv°mcw

è n®p.cN-bn-XmhvB cv?

F)sI.-B ¿.-aoc

_n)kpkvtajvNt{¥mØ v

kn)kp̀mjvN{µ≥

U n)kt¥mjvF®n-°m\w

24)NphsStN¿Ø -h-bn¬ A £ -c-am-em-{Iaw]men®v

Fgp-XnbIq́w G Xv.

F)X_e/XrjvW /ssXamhv/Xw_pcp

_n)XrjvW /X_e/ssXamhv/Xw_pcp

kn)ssXamhv/Xw_qcp/XrjvW /X_e

Un)Xw_pcp/X_e/XrjvW /ssXamhv

25)ae-bm-f-Ø nse⁄ m\-]oTw]pc-kv°mcwt\Sn-

b-h¿ B̨ Zy-tØ -Xn¬ \n∂pwA h-km-\-tØ Xv

F∂ {Ia-Ø n-se-gp-Xn-bXvG Xv.

F)Pn.-i-¶-c-°p-dp-∏v,Fkv.-sI.-s]m-‰-°m-Sv,

XI-gn,FwSn,H.-F≥.-hn.

_n)Pn.-i-¶-c-°p-dp-∏v,Fkv.-sI.-s]m-‰-°m-Sv,

XI-gn,H.-F≥.-hn.,Fw.Sn

kn)Pn.-i-¶-c-°p-dp-∏v,XI-gn,H.-F≥.-hn.,

Fkv.-sI.-s]m-‰-°m-Sv,Fw.-Sn.

Un)Pn.-i-¶-c-°p-dp-∏v,XI-gn,Fkv.-sI.-s]m-‰-°mSv,

H.-F≥.-hn,Fw.-Sn.

26)IÆocpwIn\mhpwB cpsSB fl-I-Y.

F)hn.-Sn.-̀-́-Xn-cn-∏mSv_n)Pn.-i-¶-c-°p-dp∏v

kn)F≥.-F≥.-]n≈ U n)sNdp-ImSv

27)Xmsg-]-d-bp-∂-h-bn¬ sX‰mbIq́w G Xv.

F)tImc≥ N̨ncp-X-̨-Nm-Ø ≥˛_jo¿

_n)sNº≥Ip™ v̨ Idp-Ø Ω ˛]co-°ṕn˛

XIgn

kn)Cµp-teJ ąm[-h≥˛kqcy-\-ºq-Xn-cn-∏m-Sv̨

H.Nµp-tat\m≥

U n)chn̨ ]mØ pΩ t̨ImS®n̨ H.-hn.hnP-b≥

28)tIcft̂ mIvtem¿A °m-Zanÿ nXn-sN-øp-∂Xv.

F)IÆq¿ _n)Xncp-h-\¥-]pcw

kn)Xr»q¿ U n)hb-\mSv

29)I¿j-I-sØ m-gn-em-fn-I-fpsSPohnXw B Jym\w

sNøp∂ B Zy-a-e-bmft\mh¬ ˛I¿Ø mhv.

F)c≠ n-S-ß -gn-̨-X-Ign

_n)I∂n-s°mbvØ v̨ sshtem-∏n≈ n

kn)HmSn-bn¬ \n∂v̨ ]n.-tI-i-h-tZhv

U n)s\√v̨ ]n.-h-’e

30)]qhns‚ ssii-hw,_meyw,Iuam-cw,buh\w

F∂n-ß s\ F√mPohnX A h-ÿ -I-tfbpw

Xs‚ PohnX Z¿i-\-tØ bpw Xs‚ krjvSn-bn-

eqsS A h-X-cn-∏n®Ihn.

F)h≈-tØ mƒ _n)H.-F≥.hn

kn)Ipam-c-\m-im≥ U n)kpK-X-Ip-amcn
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31. A train travels with a speed of 20m/sec. Find
the time taken to cover a bridge of 120m if the
length of the train is 80m.

A. 4sec

B. 20sec

C. 10sec

D. 6sec

32. Find the number which comes in the one’s
position of 2100

A. 2

B. 6

C. 8

D. 4

33. PQ RS. The measure of C = ?

A. 1300

B. 300

C. 700

D. 500

34. Shopkeeper raises the price of a book which
cost Rs.100 by 10%. Then he offers 10%
discount to it. Find the new value ?

A.101

B. 100

C. 110

D. 99

35.

Find the area of the shaded portion of rectangle
ABCD

A. 120cm2

B. 60cm2

C. 30cm2

D. 20cm2

36. A man makes the Indian National flag with
16.5cm length. What should be its breadth ?

A. 11 cm

B. 10cm

C. 16.5cm

D. 10.5cm

37. A bank offers 3½ paise for 100 rupees for one
day as interest. Calculate the rate of interest?

A. 3½ %

B. 10.35%

C. 12%

D. 12.775%

38. Among the following which is an odd number ?

A. 2n-1

B. 27n,

C. 2n+1

D. 2n+1

39. Find the angle formed by the hour needle and
minute needle when the time is 10.10

A. 600

B. 750

C. 1200

D. 1150

Paper I Part - C

MATHS

Question Number 31 to 50

C

Q

S

P

R
1200

700

BA

CD

6 cm

20cm
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40. Which is not a perfect square ?

A. 71288

B. 64516

C. 39601

D. 100489

41. The areas of two rectangles are 40cm2 each.
The length of first rectangle is 10 cm and that
of second rectangle is 2 times the first one. Find
the breadth of second rectangle.

A. 2cm

B. 20 cm

C. 40 cm

D. 15 cm

42. What happens to the area of a square of its side
doubles.

A. 2 times

B. 4 times

C. Same

D. 8 times

43. Calculate the distance covered by a cyclist
in 30 seconds if he travles with a speed of
18km/h.

A. 100m

B. 18 km

C. 150m

D. 2 km

44. Find the value of 934

258

x2x22

x2x22

A. 2

B. 0.5

C. 218

D. 22

45. Find the sum of all odd number from 1 to 100

A. 2500

B. 100

C. 5500

D. 2600

46

Find AFC

A. 700

B. 1260

C. 600

D. 100

47. The half of the sum of two consecutive prime
numbers is 30. Find the first prime number of
that pair.

A. 29

B. 30

C. 31

D. 60

48. The ratio of rice and urad dal for idli is 7:5 if
the rice is 10.5 cup how much urad dal should
be taken

A. 5 cup

B. 7.5 cup,

C. 7 cup

D/ 12 cup

49. The area of a square is 100cm2. A square piece
of area 1cm2 is cut from one of its corners. Find
the area of the maximum sized square which
could be made from it.

A. 99 cm2,

B. 90cm2,

C. 98cm2

D. 81cm2

50. A man travells 5km to East from his house.
Then he turns right and travells 6km to south.
Then ge turns left and travels to East by 3km.
Calculate the distance between the current
position and his house

A. 14 km

B. 10 km

C. 9 km

D. 8 km

B
C

D

E
F

A

4x

3x
2x

x
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Paper II Part - A
ENGLISH

Question Number 1 to 15

1. Question 1 to 6. Read the following article and
choose the right answer.

Everything is possible with confidence.
What is confidence really? It is another name
for self belief and complete trust in your own
self. You are unique and special with your own
set of skills and gifts. You have the right to have
your own set of opinions and beliefs about
things. Most people lose confidence due to past
failures. They let the past ruin their present.

Preparation and practice will give you
confidence. Be positive and approach life with
a smile rather than a frown. Celebrate every little
self improvement and every small personal
victory. Take every failure as an opportunity to
learn. Overthinking and over analysis in life take
away too much of time and postpone important
decisions. Go out and meet new people. The best
part of interacting with others is that you get a
scope to broaden your horizons which is also
essential for self improvement. To keep up
positive energy, you require regular physical
exercise. Taking inspiration from successful
people is one of the effective self confidence
exercises.

1) Confidence means

a) Skills and talents

b) Self belief and complete trust in self

c) Special talents

d) None of the above

2) How should we change a failure?

a) Leave as a past event

b) Beware of further failures

c) Opportunity to learn

d) Self improvement

3) What is essential for gaining positive energy?

a) Inspiration

b) Regular Physical exercise

c) Overthinking

d) Over analysis

4) This is against to become positive

a) frown on face b) Smile on face

c) Inspiration d) failure

5) Which word has the meaning "destroy"

a) unique b) frown

c) failure d) ruin

6) We can take important decisions if we avoid
......................

a) failures b) trust

c) over analysis d) Self belief

7) I have been waiting you .............. a long time

a) for b) since

c) from d) at

8) It is .............. your help I could achieve this

a) of b) with

c) for d) from

9) Who ................ you can do this?

a) between b) by

c) from d) among

10) Which term does not describe a noun?

a) beautiful b) slowly

c) fine d) bad

11) Which proverb can give an idea that "just by
appearance you cannot judge a person's
character"?

a) Early bird catches the worm

b) Honesty is the best policy

c) An idle man's mind is a devil's workshop

d) All that glitters is not gold.

12) You should always be optimistic. Being ............
you cannot achieve anything.

a) dishonest b) pessimistic

c) rude d) diffident

13) The children have already ............ the notes

a) written b) wrote

c) writing d) write

14) I cannot walk. I cannot run. These two sentences
can be joined by using which of the following?

a) Either .....or b) Neither......nor

c) if..... not d) Not only ....... but also

15) I am ---------- tired --------- do any work

a) too , to b) So, to

c) Very, of d) too, for
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16) The founder of the popular idea “Zero budget

natural farming”

a) M.S.Swaminathan

b) Masanobu Fukuvoka

c) Subhash Palekar

d) Har Govind Khorana

17) ‘Arka Abhay’ is a hybrid variety of which

crop?

a) Greenchilly

b) Lady’s Finger

c) Bittergourd

d) Pumpkin

18) Layering which can be experimented on

gooseberry, Jack fruit tree etc….. is

a) Mount layering

b) air layering

c) Trunch layering

d) Simple layering

19) Refractive index of water

a) 1.50 b) 1.33 c) 1.31 d) 1.00

20) The alloy present in “Aranmula Kannadi”

a) Copper, led

b) Copper, Silver

c) Tin, lead

d) Copper, tin

21) If we show a burning match stick to the gas

produced by the reaction between zinc and

hydrochloric acid.

a) Fire is extinguished

b) Nothing happiness

c) gas burns with a small sound

d) Gas spreads out

22) The acid present in tomato is

a) Acetic acid b) Citric acid

Paper II
Part - B

BASIC SCIENCE
Question Number 16 to 35

c) Formic acid d) Oxalic acid

23) Hydrangia flowers are seen in different colours

due to

a) Variation in PH of soil

b) Different kinds of seed

c) Variation in light

d) Difference in water, fertilizer used

24) Eucalyptus, Mahagany etc…. shed their skin

for

a) Growing new plants

b) Removing the waste

c) Seed collection

d) taking the cell sap

25) Salivary gland which does not get opened to

the mouth of human beings.

a) Parotid b) Pituitary

c) Sub tingual d) Sub maxilliary

26) ECLB is used

a) as an instrument to cut off electric flow

b) To make the circuit complete

c) instead of battery

d) to economize the current consumption

27) Chemical used to clean the wounds

a) Sulphuric acid

b) Hydrogen peroxide

c) Carbon dioxide

d) Ammonium Peroxide

28) The walls of sub marines are thicker than

ordinary ship due to

a) Pressure increases as depth increases

b) Pressure decreases as depth increases

c) Air pressure equals liquid pressure

d) Overcome atmospheric pressure
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29) Which are not blood cells

a) Magnocytes b) Lymphocytes

c) Eosinophils d) Nutrophils

30) The major protein in blood

a) Eosinophil b) Albumin

c) Cerum d) Haemoglobin

31) Molecular speed and kinetic energy are related

as

a) Inversely Proportional

b) Multiple of each other

c) half proportional

d) Directly proportional

32) Heat is transferred from sun to earth by

a) Conduction b) Convention

c) Radiation d) Dynamics

33) When pickled, mango shrinks due to

a) Concentration b) PH value

c) Osmosis d) Conduction

34) Metanil Yellow is an adulterant added to which

food item.

a) Chilly Powder b) Tea dust

c) Ghee d) Turmeric Powder

35) Scientist who discovered medicine forAnthrax

seen in cattle.

a) Louis Pasteur

b) Jagadish Chandra Bose

c) Issac Newton

d) Edward Jenner
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36.C≥U y≥ c̀-W -L -S\ \ne-\n¬h∂

ZnhkwG Xv?

A.P\p-hcn26,1950

B.U nkw-_¿251945

C.\hw-_¿26,1949

D.Pqsse5,1947

37.FgpX-s∏́ c̀-W -L-S-\-bp≈ cmPywCh-

bn¬ G XmW v?

A.{_ń¨

B.C{km-bn¬

C.\yqkn-em‚v

D.bp.-F-kv.F

38.kzcmPvt{Sm̂ nèn-°p∂ taJ-e-tbXv?

A.hyh-km-b-ta-Je

B.Xt±i kzbw-̀-cW ÿ m]-\-ß ƒ

C.Irjn-ta-Je

D.ao≥]n-SpØ w

39.B Zy-ambǹq]Sw\n¿Ωn®{Kn°nseXXz

imkv{X-⁄ ≥ B cmW v?

A.A \m-Ivkn-am≥U¿

B.aK-√≥

C.sImfw-_kv

D.A ǹ-em-jvtSman

40.hS°pw sX°pwXΩn¬ tbmPn-∏n-®p-h-c-

bv°p∂ km¶¬]nIhrØ -tc-J-I-fmW v

A.̀qa[ytcJ

B.A £ mw-i-tc-J-Iƒ

C.tcJmw-i-tc-J-Iƒ

D.{[ph-ß ƒ

41.B ¬]vkv]¿∆Xw ÿ nXn-sN-øp∂

q̀JW vU wCh-bn¬ G XmW v?

A.bqtdm∏v

B.G jy

C.B {̂ n°

D.B kvt{S-enb

42.Im‰ns‚ thKX A f-°p∂ D]-I-cW w

G Xv?

A.A \n-tam-ao-‰¿

B.sX¿tamao‰¿

C.ssl t{Kmao-‰¿

D.hn≥Uvshbn≥

43.{̂ m≥knsetZiob ]pjv]w Ch-bn¬

G XmW v?

A.Xmac

B.tdmkv

C.tKmƒU≥ tdmkv

D.en√n

44.temI-Ø nseG ‰hpwhenb{]Xn-a-tbXv?

A.ÃmNypHm̂ vent_¿́n

B.A h-km\A Ø mgw

C.ÃmNypHm̂ vtImbn≥

D.ÃmNypHm̂ vs]{Sm¿°v

45.G XmW vIdp-Ø -kz¿Æ-sa∂vA dn-b-s∏-

Sp-∂Xv?

A.Uok¬

B.Ipcp-ap-fIv

C.s]t{Sm-fnbw

D.kn¬h¿

46.HcpI_U nSoan-ep≈ A wK-ß -fpsS

FÆw

A.7

B.4

C.11

D.8

47."̂mZ¿Hm̂ vlypam-\nkw'F∂-dn-b-s∏-

Sp-∂XvB sc?

A.s]{Sm¿°v

B.apt m-fn\n

C.Km‘ nPn

D.Keo-entbm

48.Nhn-́p-\m-SIIem-cq]wkẁ m-h\\¬In-

bh¿B cv?

A.U®vIm¿

B.t]m¿́p-Ko-kvIm¿

C.Cw•o-jvIm¿

D.{̂ © vIm¿

Paper II Part - C

kmaq-ly-imkv{Xw

Question Number 36 to 55



dn
tk
mg
vk
vS
ow
So
t®
gv
k
v¢
∫
vt
I
me
-t©
cn

Xøm-dm-°n-bXv̨dntkmgvkvSowSot®gvkv¢∫vtIme-t©cn̨ 9446762687

49.Xp¿°n-Iƒ tIm̈ Ãm‚n-t\m-∏nƒ ]nSn-

®-S-°nbh¿jwG Xv?

A.1945

B.1453

C.1435

D.1940

50.U®vi‡ n£ bn®bp≤-taXv?

A.]m\n-∏Ø v

B.H∂mwkzmX-{¥y-k-acw

C.Ipf-®¬ bp≤w

D.I¿Æm-́nIvbp≤w

51.ZØ ]lm-c-\bwG Xv{]̀ p-hmW v\n¿Ø -

em-°n-bXv?

A.U¬lu-kn-{]̀ p

B.Igvk̈ {]̀ p

C.sh√…n{]̀ p

D.cmPm-Zmkv{]̀ p

52.kmaq-XncncmPm-hns‚ \mho-I-Ø -e-h≥

B cm-bn-cp∂p?

A.Ip™ m-en-Iƒ

B.t]m¿́p-Ko-kp-Im¿

C.U®p-Im¿

D.Cw•o-jp-Im¿

53.\tKm-U-Iƒ G Xvkwÿ m-\-hp-ambn

_‘-s∏-́n-cn-°p∂p?

A.]© m_v

B.alm-cmjv{S

C._wKmƒ

D.Xan-gv\mSv

54.kn.-F-kv.H (C,S,O) apgph≥t]cvF¥v?

A.sk≥{S¬ skmssk‰nHm̂ vH¿ssK-

ss\-tk-j≥

B.sk≥{S¬ Ãm‰n-Ãn-°¬ Hm-̂okv

C.sk≥kkvskmssk‰nHm̂ vHm-ƒUv-

G Pv

D.sk≥{S¬ kv°qƒ Hm̂ vHm-̂okv

55."h\w'G XvtaJ-e-bn¬ Dƒs∏-Sp∂p?

A.{]mY-anIw

B.ZznXnbw

C.{XnXnbw

D. cmjv{Sobw


